
page 1 of 5

IMPORTANT

                                            PLEASE READ BEFORE YOU CONTINUE FURTHER

THE PRODUCT YOU HAVE PURCHASED WILL GIVE YOU MANY YEARS OF SERVICE IF YOU
FOLLOW THE GUIDELINES FOR ITS SAFE ASSEMBLY AND PERIODIC MAINTENANCE AND
CLEANING.

DO NOT USE ANY TOOLS OTHER THAN THOSE SHOWN.

ANY SPANNERS OR ALLEN KEYS REQUIRED ARE INCLUDED WITH THE FITTINGS KIT.
DO NOT FOR ANY REASON USE A POWER TOOL TO ASSEMBLY THIS PRODUCT .ITS USE WILL
INVALIDATE ANY CLAIM YOU MAY HAVE AND COULD MAKE THIS PRODUCT UNSAFE.
DEPENDING ON THE AMOUNT OF USE THIS PRODUCT RECEIVES IT MAY BE NECESSARY TO
TIGHTEN UP THE FIXINGS FROM TIME TO TIME.THIS IS COMPLETELY NORMAL FOR ANY FLAT
PACK FURNITURE.DO NOT OVERTIGHTEN FIXINGS.

FOR CLEANING YOU MAY USE A DAMP CLOTH (NOT WET) OR DRY DUSTER.

              DAVINA 3FT BED
      ASSEMBLY INSTRUCTIONS

1110MM

2100MM

200MM

1010MM

120MM

200MM



1 2 3

Description:SIDE RAILDescription:FOOTBOARDDescription:HEADBOARD
Qty:1 PCQty:1 PC

5 6

Description:  LEGS
Qty:4pcsQty: 1set

Description:WOODEN SLAT
Qty: 1PC
Description:BED'S CROSS RAIL

4

page 2 of 5

Qty:2PCS

              DAVINA 3FT BED
      ASSEMBLY INSTRUCTIONS



Bolt-5/16*30mm 8

Bolt-1/4*57mm

Washer*5/16

Spring Washer*5/16

Washer*1/4

Spring Washer*1/4

Butterfly Nut

4MM Allen Key

5MM Allen Key

10 20 30 40 50 60 70 80 90 100

2

8

8

4

4

2

2Plastic Washer

1

1

Ref Dimennsions Qty

Fixings(to scale)

Bolt-5/32*35mm 8

page 3 of 5

C

D

E

F

G

A

B

H

I

J

K

(Not to scale)

              DAVINA 3FT BED
      ASSEMBLY INSTRUCTIONS



STEP 1

STEP 2

Make sure the bed is square.
Note:THEN tighten all bolts 100% using allen key

page 4 of 5

              DAVINA 3FT BED
      ASSEMBLY INSTRUCTIONS



STEP 3

STEP 4

page 5 of 5

SCREW DRIVER :NOT PROVIDED

              DAVINA 3FT BED
      ASSEMBLY INSTRUCTIONS


